0

R,

T35328/T1745 B.E(MECHANICAL ENGG)(SEM VIII) (CBSGS) 3)PROJECT MAN&QMNT ;-;'.“ 3 -‘.5',."'“555
all ":E“" Rt L e

Mechanical/ Au tomobile @@ﬂe Mbiad .':
s 3@1&}5_ ‘[ ?ﬂ!?

(3 Hours) ¢ . [Total mf’kbﬁﬁ} ﬂ

N B‘= s I ; iz

(1) Question No.1 is compulsory Vel N
(2) Attempt any three questions out of remaining five qgésdnns 2
(3) Figures to right indicate full marks AR g
(4) Assume suitable data if necessary. v s il
(5) Notations carry usual meaning.

Q.1 Write short notes on the followi
i) Need of Project Manages
if) Work break down 5&@&?&;7
iif) Concurrent Enginam@ d
iv) Risk management. i "*‘ -'ﬁ
v) Goldratt’s crm(;gff ﬂ;ah}:,\mﬂ’ﬁwﬂ &

Q.2 (A) Following are the 1 e

nef &gﬁp of ﬂw project activities
> the ﬁ;\tﬁqﬁqs,ﬁiﬂ:abl}' for reducing the existing total man

ngtt‘é'ﬂhni’rocess'? Explain different steps involved in this. 10

~Whai, gze To mﬁ @}’ team development and growth? What are advantages 10
Feffect 1,'=e" te,amgt‘ﬁhat are barriers to team effectiveness?

.~

TURN OVER

AGE0ASID8F071BC752F7D8786EDCO3A0



—

h

N e
e

' S

1 e & L - 1\.
e
g pirvject ha

oy

-

Z 2 = 8 8 8 18
=
s . g m
= W — =
8 e 5 m = 7
£ 8 § § 8 3
o g W... 2 . M
§ 2 § 8 = § =
8 g g F 2
y ..q_,.__,uuhy = r—y LM; w m
: [=71]
. i £ 2
4 =
X = B B
18 1% £ 3 5§
2 E ol B i 2 B ¥
& S
B S8 I %

o R
L

il

meric mo

AGEOAS59D8F071BCT752FTD8TB6EDCO3A0

2,000,000. The capital budget for the
Cash Flows
First Year

to accept one of the four projects.
flows of each project, which proj

(C) What are the different ways of Closing a
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(B) What are the nu dels of

Q.4 (A) Swanson Industries has four potent



